(2 Hours)
N.B. : (1) All questions are compulsory.

(2) Figures to the right indicate full marks.

Q1. Explain ANY TWO of the following:

a. Causes of market failure.
b. Any two theories of redistribution.

c. Comparison between taxation and regulation.
Q2. Write notes on ANY TWO of the following:

a. Arrow Impossibility Theorem.
b. Causes of government failures.

c. Methods of privatization.

Q3. Examine ANY TWO of the following:

a. Need and importance of Cost Benefit Analysis.

b. Methods of shadow pricing.
c. UNIDO approach to project appraisal.

Q4. Discuss ANY TWO of the following:

a. Optimal linear income tax.
b. Effects of tax on labor supply.

c. Value added tax.
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